KILRBTEFEATEYEEA,

% Rubber feet dimensions are not included.

¥ERLINZ / Components

No. FF / Part name = / Pcs #E / Material £ - R ELE / Color-Finish
1 ISR 2 7 JLSHR A1050P AUYIyIN - REBE-RERLE T 797 MI4b
Panel Aluminium A1050P Metallic Silver-Painted (Unfinished inside),Black anodized
2 E—r 2 PhN— 1 7L A6063S-T5 MiyIyLN - REEE-NEROLIE 7 I9T AL
Heat-sink top cover Extruded aluminium A6063S-T5 Metallic Silver+Painted (Unfinished inside),Black anodized
3 THhi— 1 T ILSHRH A A6063S-TS I - RE B E-NEELE 7 79T LI4b
Bottom frame Extruded aluminium A6063S-T5 Metallic Silver+Painted (Unfinished inside),Black anodized
4 I500T Sk 2 T ILSHRH A A6063S-T5 M IYNN = B T 99T
Flange bracket Extruded aluminium A6063S-T5 Metallic Silver+Painted ,Black anodized
9 BHE RGRA T M4 x 10) 8 ATULA mnE
Screw ( Hexagonal M4-10) Stainless steel Unfinished
6 TS5 CEFE X / Flange screw 4 £% / Steel =24 0OA—}F / Black trivalent chromate
7 IS5 EtF vk / Flange nut 4 # / Steel ={mE4-OA—F / Black trivalent chromate
8 £3AT L2 / Rubber feet 4 $1)ara s / Silicone 7597 / Black

ARESLMTFI EREOB PRGNS INFEM T EICRELES . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

mf/Title
BAIRINTBRIR ISUSRIE—PI VTSI —R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. FLANGED HEAT-SINK ALUMINIUM ENCLOSURE RE/Scale
BiER (BUERED) / Color type 7G8/Approved | [/ Checked #[/Created | #!#/Product number o
5.5 / Code £ TH/\— / Cover 7523754k / Flange bracket 8%l / Panel . EXHF19-4-29[[ -
ss 2 JLsR— / Silver 2 JLsS— / Silver S )LiIR— / Silver hiR KL B 1/ 6
BB 5597 / Black 559% / Black 5597 / Black fERLE/Date 2022/11/30




B-B(1:4)

4.5
6.5

B

175

ERATLE
Rubber feet

145

E(1:2)
detail E

o4
"u

17.5

285

2.5

186.5

280

25

A-A(1:4)

42

M3+ vk

M3 nut

o~

21.5

1.5

46

157.5

162

170

180.5

4-MAFR MY}

4-M4Countersunk

C-C(1:4)

46

279.5

243.5

D-D(1:4)

185

R L~NYR M3 X6

Screw M3-6

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

TV RME—bVOT LI —R
FLANGED HEAT-SINK ALUMINIUM ENCLOSURE

S
O

AR/ Approved

iR

#&[X/Checked

XL

#[X/Created

§

& /Product number

EXHF19-4-290101

RE/Scale
1:4

e B /Date

2019/02/12




E—ki2% / Heat—sink top cover

15

175

25

o
[=°]
N
185
173 ,
|
i h’ J—
4-M4
@
v
8.6 140.4 8.6
149
1775

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
E—k 2 HhN—

Heat-sink top cover

S
O

& &8/ Approved

iR

#&[X/Checked

XL

#[X/Created

§

& /Product number

W185-D280

RE/Scale
1:35

{ERL B /Date 2022/08/05




TH/\— / Bottom frame

11.5

177.5

170

180.5

2315

27

142

2.5

157.5

162

173

185

280

mf/Title
TAKACHI| HHRIHFERTHE THA— O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom frame
AR/ Approved 1% X]/Checked #[X/Created & /Product number RE/Scale
W185-H42-D280 1:35
iR KiL & 46
1ERk B /Date 2019/02/12




INAR)L / Panel

_

43.5

[ — ) ——
_—]

G-G(1:2)
Bxh~i% / Max dim. 26.85
173 F-F(1:2)
<t F
/7% _
A\~ |
G G o
(2]
& 7 7 & |
\ NS4 (1))
<— F
B¥h~tiE / Max dim. 170
186.5
AC I
(A PR Panel 1
\/ QO

.

&

J-J(1:2)
H-H(1:2)
H
I ;
Y7\ ¢
\&
T
INR)L 2
(o~ PR Panel 2
\/ \/ ‘
& J &
ma/Title A —1
TAKACHI| #X&#hFEHTE RES O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
& &8/ Approved & /Checked #1[X]/Created #IF /Product number RI&/Scale
W186.5-H43.5 1:2
iR KiL A 5
1ERk B /Date 2023/02/14




279.5

11.75 7,
| I
(o] o0
I—= o
10
™
<
N
)
<
px ® 0\
o0
_ 46
0=C2 /= -\ 2-232
292 16.8|
‘ o~
Te) . ——n—/\j—l_\ ——
\
L0 ‘\!l L0
N — T—

31.6 144

M3Fwhk EATLRE
M3 nut Rubber feet

R LAYR M3 6

Screw M3-6
——"—
4 /Title f\ |/|
A == &
TAKACHI] B#ARHINTFEHRIE 525 TS5 gk O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Flange bracket
=3 v v RE/SCNG
& &8/ Approved 1% X]/Checked #[X/Created B F /Product number
EXHF19-O-29 1:2
iR KiL A 6 / 6
{ERL B /Date 2019/02/12




	シートとビュー
	EXHF19-4-29-モデル
	2
	3
	4
	5
	6


